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INSTRUCTIONS TO CANDIDATES

1. Immediately after getting the booklet read instructions carefully, mentioned
on the front and back page of the question booklet and do not open
the seal given on the right hand side, unless asked by the invigilator.

2. Write your Roll No., Answer-Sheet No., in the specified places given
above and do your signature.

3 Make all entries inthe OMR Answer-Sheet as per the given instructions
otherwise Answer-Sheet will not be evaluated.

4. After Opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and printing of
all the 100 question is proper. If any discrepancy is found, inform
the invigilator within 15 minutes and get the correct booklet.

5. While answering the question from the Question Booklet, for each
question choose the correct/most appropriate options out of four most
appropriate options given, as answer and darken the circle provided
against that option in the OMR Answer-Sheet, bearing the same serial
number of the question. Darken the circle only with Black or Blue ball
point pen.

6. Darken the circle of choose option fully, otherwise answers will not be
evaluated.

7. There are 100 objective type questions in this Bookiet. All
questions are compulsory and carry one mark each.

8. No. negative marking will be done.

9. Do not write anything anywhere in the Question Booklet or on the
Answer-Sheet except making entries in the specified places.

10. When the examination is over, original OMR Answer-Sheet is to be
handed over to the invigilator before leaving the examination hall,
while Question Booklet and carbon copy of the Answer-Sheet can be
retained by the candidate. '

11. This Question paper consists of Five Parts namely :
(i) First Part :— General Mental Eligibility — 30 Marks

(ii) Second Part :~ General Knowledge — 20 Marks

(ili} Third Part :~ Educational Interest — 30 Marks
(iv) Fourth Part :— General Hindi - 10 Marks
(v) Fifth Part :- General English - 10 Marks

All questions are compulsory.
12. In case of any ambiguity in English version the Hindi version shall be
considered authentic.
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PART -1
T ORI Tt

g R A= Q. 1-3
@aﬁﬁﬁéﬁlﬁﬁﬁgﬁmﬁn&aﬂtﬁm

GENERAL MENTAL ELIGIBILITY

Problem discription for Q. 1 —3:
Some friends went to Naivaidya Sweets.

Following is the information about the @R T Tee! sh! ST % a1 A feforiad qed
number of rasagullas they ate . T BY

i. Gimmy ate 8 less than Akshay i, Rrefi 3 31e/ @ 8 0 W

ii. Dilip and Raj together ate 37 i feefiy ot ust 3 firerem 37 @@
iii. Jugal ate 8 more than Dilip i, STt 3 fRefio @ 8 i @r

iv. Akshay ate 5 more than Dilip iv. 37 3 faefi @ 5 srftes @l

v. Akshay and Gimmy together ate 40

1. How many rasagullas did Raj ate ?
(A) 18
(B) 24
(C) 16
(D) None of the above

2. Jugal and Dilip together ate how many
rasagullas 7

(A) 48
(B) 36
(C) 40
(D) None of these

3. |f the cost of each rasagullas is X 2,
what was the total amount they had

v. o7 o Ry 3 firerew 40 @R

1. e T Y P T @ ?
(A) 18
(B) 24
(C) 16
(D) Il | & HI3 T

2. et 3R Reflu 7 T Ty Frad W
e 7
(A) 48
(B) 36
(C) 40
(D) 378 | I3 &l

3. afe afy e fhad T 2 &, Al 37 9o
fopert forma s ¢

to pay ?
(A) X198 (A) ¥ 198
(B) T 200 (B) % 200
(C) ¥ 208 (C) % 208
(D) None of these (D) 3 | I3 &l
T & o T TA™
Space for Rough Work
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4.

In the following figure the number of
triangles with any three of A, B, C, D,
E and F as vertices Is

A
B F
C E
D
(A) 11
(B) 9
(C) 5

(D) none of these

Number of triangles formed in the
following figure is

A.

-4-

A O R O

4, fa 4 A B, C,D,Edn FH &

fordl o A 3fid & w9 8 S s B
Il U1 ©
A
B =
C =
D
(A) 11
(B) 9
(C) 5
(D) 370 & IS 7L
o= fo § =9 et S s @

o F
B B
(A) 30 (A) 30
(B) 35 (B) 35
(C) 39 (C) 39
(D) none of these (D) 370 ¥ i3 &
@ & o fog T
Space for Rough Work
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6. From the following figure maximum 6. T ¥ SuR ged A U@ gad F
and minimum loan debt lying with the 07 g A St o6 & 3 & A
banks are respectively

40
40 -
- ¥ ap
g 30 { — 'E
L ] e Exq o [C] |
=5 = ol | o ' = = S
8 5 o = = = E 10 <
) 10 w 0L (38 |
< | & 2
S (R (A 16 -
Banks ¥
(A) CBI, IDBI (A) CBI, IDBI
(B) CBI, PNB (B) CBI, PNB
(C) |DBI, CBI (C) 1DBI, CBI
(D) SBI, CBI (D) SBI, CBI
7. 1f numerical values of A, B, C,..., Zare 7. I A, B, C,..., Z % 3ifeheh A &AM 1,
respectively 1,2, 3, ...,26 and ‘O’, ‘& 2 3 ..268qm'O, 'O, A, (Y &H:
TR :+!’ r.___:’ :x:’ ""E"’, a_ﬁ SIET q_}{;_‘l ﬁ! —(—ﬁ

‘A", ‘(Y represent respectively ‘+', -,

‘%' ‘=’ then

BATQJOHOK= BATAJOHOK=
(A) A (A) A

(B) B (B) B

() C (C) C

(D) Z (D) £

T HA o e T
Space for Rough Work
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8. A cardriver knows four different routes 8. U N r¥eel ol § YA 2 T AT
from Delhi to Amritsar. From Amritsar 7T AT AT § | STHAE B 93T 99
to Pathankot, he knows three different et S 3ik - ——
routes and from Pathankot to Jammu Gl L SR TS
he knows two different routes. How % A AT ST & | a3 I8 feeedl @ 5y
many routes does he know from Delhi ek fere Aml STFaT 8 7
to Jammu ?
(A) 36 (A) 36
(B) 24 (B) 24
(C) 12 (C) 12
(D) None of the above (D) 3T | § g gl
9. AwomanhasRs.4,800inthe denomination 0. U 3TN U e T, T=md T NI T o
of ten rupee notes, fifty-rupee notes and ¥ Y2 & et 4,800 T 21 Toft yeat 6 A
hundred rupee notes. The number of , i ® . T
notes of each denomination is equal. sl {1 §HM &, o Fof fohe A & |
What is the total number of notes ?
(A) 60 (A) 60
(B) 90 (B) 90
(C) 30 (C) 30
(D) None of the above (D) 39U U & hig T8l
10. In the following series, find out the 10. TFrafeRaa 2oft 4 wea o1 31 4
“Wrong number”.
28, 84, 112, 196, 308, 504, 872, .... 28, 84, 112, 196, 308, 504, 872, ....
(A) 308 (B) 112 (A) 308 (B) 112
(C) 872 (D) 196 (C) 872 (D) 196
11. Which term will be the first negative 11. T=afafag goft o g ssomers 9agy ad
term of the following series ? it ?
45, 40, 35, .... 45, 40, 35, ....
(A) 10™term (A) 10 97 4&
(B) 11"term (B) 11 4T ug
(C) 12" term (C) 12491 1g
(D) None of the above (D) 3uVad § § IS a8l
T & o o0 v

Space for Rough Work
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Problem discription for Q.12 -14:

In a row of soldiers facing North

i Lambert is 8" 10 the right of

Khurusheva ;
i Mickey is 16" from the left end ;

iii. Lambert 18 16" to the right of

Jackson, who is 27" from the right

end of the row ,

iv. Khurushevais née
to the right end of the row ;

arer than Mickey

v. There are5soldiers between Mickey

and Khurusheva.

12. How many soldiers are there between

Jackson and Mickey ?

(A) Two

(B) One

(C) Three

(D) Data inadequate

13. How many soldiers are there in the

row ?

8021/TF — BT/PFP — W

e A e Q. 12 - 14
wﬁm@@mﬁﬁﬁ?ﬁﬁm%ﬁﬁﬁ:

. g s e sl B A AR

T SR A e 16418 ;
il amé,aam%aa“raﬂneaﬁ,a%m%
arfi SR A 27 a8 A

(A) 36 (A) 36
(B) 40 (B) 40
(C) 50 (C) 50
(D) Data inadequate (D) ST A
Y Al )
Space for Rough Work
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14. How far away is Jackson from the right
end of the row ?

(A) 24"
(B) 25"
(C) 27
(D) Data inadequate

15. If Ram is in the West of Shyam and
Kareem is in the North of Shyam, in
what direction is Kareem with respect

to Ram ?

(A) North-East
(B) South-West
(C) South-East

(D) North-West

16. In the following figure the number of
triangles with any three of the vertices

0,,0,0,0,0,0.Is

V0D A0 0 D
14, S99 FAL & A S Y P S R 7

(A) 2491
(B) 254T
(C) 27 &t

(D) sTer 31qof

15. I W, 7 o ufyem 4 8 3 iw, v
o I Y B, a1 U0 & et w0 forg fewn o

g ?

(A) ITR-qd
(B) eferor-ufyem
(C) efqor-ud

(D) ST-ufem

16. F=fmasivio, 0, 0, O, O, 0.4

1? EI

3 el i @ 3 Fingeit ) w2

(A) 9 (B) 13 (A) 9 (B) 13
() 12 (D) none of these (C) 12 (D) 39 | i3 T
W & & foru wum=
Space for Rough Work
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17. Missing number in the following

figure is :

2 | 16 1_I

12 | ? 7 |

5 | 3 | 1
(A) O (B) 13
(C) 11 (D) 8

18. Missing number in the following
figure is : |

19. The missing number in the following
figureis :

8021/TF - BT/PP - M

17.. T o o g v @

(A) O (B) 13
(C) 11 (D) 8

18. e fom o o v @

(A) 0 (B) 3
(C) 5 (D) 2

19. e e 3 R e B

W &1 & fere T
Space for Rough Work
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20. If a cube is formed from the following
figure, then the number opposite of
face 5 is

2
13|15
[6]4
L
(A) 3 (B) 6
(C) 1 (D) 2

21. Inthe following figure the letter opposite
of face B is

(C) D
(D) A

22. |If faces of a cube are marked by
some special pattern as shown in the
following figure, then what will be the
number opposite to face 4 ?

-10-

A R0

20. IR AR ST R TaR 5
o foradia wen &

2

<
[ 64

[ 1
(A) 3 (B) 6
(©) 1 (D) 2

21. T4 fuz 4 gag B & fagdia a1am 2

22. i< Ueh o o Gadal ohl Ush fafire Yo wr fa=
a1 & St fafa e B, 9« 4 % faudia
gdg W G 91 2t 7

(A) 121 (A) 121 (B) 9
(C) 25 (C) 25 (D) 169
W @ o fore s
Space for Rough Work
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23 What should come next in the series

below ?
122343456 . . .

(A) 34567
(B) 45678
(C) 6789
(D) None of the above

24. Which of the following will come in
place of the question mark (?) in the

following sequence ?
16D7, 18G10, 21K14, 25P19, ?

(A) 30K20 (B) 30V25
(C) 30K24 (D) 29V25

25. Complete the following series :
BZ.HT, NN, 2, ZB

8021/TF — BT/PP — M

o3 e Suft F apTel @At ! Bl 7
122343456 . ..

(A) 34567
(B) 45678

(C) 6789

(D) 3w A | I3 &

04. frefaRaa srgn A et (7) o TH W
et frepedl § 8 5 3 7
16D7, 18G10, 21K14, 25P19, ?

(B) 30V25
(D) 29V25

(A) 30K20
(C) 30K24

o5, Frffad Aof qof 1
BZ, HT, NN, 7, ZB

(A) LF (B) SX (A) LF (B) SX
(C) TI (D) TH (C) Tl (D) TH

26. Whatis the next alphabet in the following o6, Frerfifaa Joft 3 ofren ool s B 7
series ? ZYXWTSRQNMLK
ZYXWTSRQNMLK
(A) | (B) G (A) | (B) G
(C) H (D) J (C) H ()

27. Study the following series : 07, frafefad Soft w1 37=RE 1
SQA5N%T7B4#JEH2T SQA5N%T7B4#JEg2T
D*18H3U@9FWOK D*18H3U@9FWOK
Which of the following is the seventh SdEd Aoft 8 IRt SR A 15 9 F TR AR
to thg left of the fifteenth from the left 7 5 a7
end in the above arrangement ? |
(A) H (B) B (A) H (B) B
(C) 1 (D) 7 (C) 1 (D) 7

@ ®HE b (10 ¥
Space for Rough Work
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28. The missing number in the following 28. Tt d faga &g .
figure is :
6 | 6 2(31 6 | 6 | 20
20 | 42 | 42 20 | 42 | 42
| T 72 110.| 2 172 1110
(A) 110 (B) 45 (A) 110 (B) 45
(C) 72 (D) 52 (C) 72 (D) 52
29. If ‘A’ means ‘+’, ‘00’ means ~’, ‘(Y 29. RN IAYR +, T Fwafd —, O
means ‘X’ and ()’ means ‘+’, then maﬁf%‘x’w‘O’wmﬁ%‘;,m
3020)1A602= 3o2()1a6N2=
(A) 6 (B) 12 (A) 6 (B) 12
(C) 13 (D) none of these (C) 13 (D) 39 © &I T
30. 'Y means ‘Govt. Hospital’, ‘A’ means 30. IR ‘O =1 1Y T ‘B JAHART, ‘A’ H
‘Private Hospital’ and ‘O’ means g g S ergarer @ ur ‘O w1 Y B
‘Corporate Hospital’, and number AR STEIATET, T 37 et i s
;nustzi:o:gj::e:;niﬁtfhg:i: L&Tﬂiﬂ w? iphd Wﬁ : - ”E ? .f“'@q' -
per day, then the maximum number of 8, T _ e 1 e
patients per day is in 8 "
(A) (A)
(B) A (B) A
(C) O (C) O
(D) all the three have equal patients (D) Gft it & AfE h o guE 2
% & & fore M
Space for Rough Work
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PART -l
GENERAL KNOWLEDGE A 7
31. Gandhian plan is associated with 31, e wiH forea gafia @ 7
(A) John Mathai (A) ST AYTS
(B) H. Visvesarayya (B) . fewemtan
(C) Shrimannarayan (C) Hw=mr=mo]
(D) None of above (D) I9&d H HIg &
32 Which of the following banks must 32 R feid ok o g i €. SR,
keep the CRR (Cash Reserve Ratio) (331 foord RoM) w1 urer o Frferflad
as fixed by Reserve Bank of India ? o 5 el & foie sfews ® 7
(A) All Public Sector Banks (A) Tt gt @ o
(B) All Commercial Banks (B) Tft =aradTRieh
(C) All Private Banks (C) wsft Fsh siep
(D) None of above (D) 3Iulrd d i3 TR
33. The Headquarters of World Trade 33. faw= wmﬂmg@mﬁ%?
Organisation is at
(A) London (A) e
(B) New York (B) =ATeh
(C) Geneva (C) Toman
(D) None of above (D) SWIwd § HI3 &I
34. Paradeep Portis in 34, WYL FBTE ¢
(A) Orissa (B) Maharashtra (A) Aifea (B) HERIS
(C) Guijarat (D) West Bengal (C) TSd (D) ufvaw e
TF &E & T8 T&a=
Space for Rough Work
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35. Who is known a father of modern 35. SATIARTE o1 Seh fohdl gl ST & 7

genetics ?

(A) Hargovind Khurana (A) Tmifere G

(B) Charles Darwin (B) IeH SRfeA

(C) Gregor Mendel (C) R Bee

(D) None of above (D) 3uUed ¥ I3 a8l
36. What is Sri Harikota ? 36. i EiRiaT TR ?

(A) Satellite Launching Center (A) 3UUE Y& g

(B) Thermal Power Center (B) am fagd o

(C) Hydro Electric Center (C) St fazd &5

(D) None of above (D) 3WIFd | g &l

37. By which Institution was “continuous a7, WﬁTﬂT o “Odd U9 997 ngiqw” gfema

and comprehensive evaluation” started g Tieer gRT AL Y TS 7
in school education ?
(A) CBSE (A) T €
(B) UGC (B) 3Sf.Hi.
(C) SCERT (C) wa. €. 3. 3. &.
(D) IGNOU (D) 3 (313.50.U4.371.7.)
@ &1 & o8 Tum
Space for Rough Work
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38. Angawas capital of which of the following 38. 37 ford HEISAYS i TSTHT AT 7
Mahajanpada ?
(A) Kausumbi (A) Hrgri
(B) Vaisali (B) Aweht
(C) Champa (C) =TI
(D) None of above (D) IUFd H I3 Tl
39. In the second half of the nineteenth 30. 193 yraweHh & g wFT H Feht faRie foraa
century the Kuki revolt was associate g ?
with which of the following ?
(A) Bihar (A) TR
(B) Orissa (B) Hifear
(C) Tripura (C) fgu
(D) None of above (D) Iqed | HIg T8l
40. Chennakeshava Temple at Belur in 40. IR 1 Serehwa Wi fred wrfa 7 7
related to
(A) Hoysalas (A) BrEEET
(B) Kesariyas (B) &
(C) Gangas (C) ™M
(D) None of above (D) I9UF | WHIg T8l
I w1 o fore T
Space for Rough Work
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41,

42,

43.

10+2+3 system of Education was
introduced through

(A) Kothari Commission

(B) Mudaliar Commission
(C) National Policy of Education 1968

(D) National Policy of Education 1986

The Shantiniketan was established
by
(A) Swami Vivekanand

(B) Arvind Ghosh

(C) Rabindranath Tagore

(D) Swami Dyanand

Among the following themes, which is

essential for the quality enhancement

in higher education ?

(A) Ranking of higher education
institutions

(B) Linking higher education to

16- AU 0 0 I 0

41, e 6 10+2+3 g 3w fomam =

(A) HIBRY =T g

(B) HETielaR AN 10
(C) T~dia fhar AAifa 1968 g

(D) Tt e fifa 1986 g

42, rifaferad < v & T

(A) Tt g g
(B) awfame 9Y gRI
(C) W1y TR g

(D) &7l = g

43. 3= fRiam 4 e fosra & ford fa ofiw
H 8% ifrard § 7

(A) 3= faranm deuml Y oot 7 @RFT)
T
(B) ¥\l & 3= foiam =i sireq #

soclety
(C) Promoting research and (C) TET=IR a1 INY i dgmE & A
innovations ,
(D) All of the above (D) 3wtied g+
T & o g e
Space for Rough Work
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44,

45.

46.

Impeachment of Supreme Court
Judges is provided in which of the
following Article of Constitution of
India ?

(A) 124(2)
(B) 124(3)
(C) 124(4)

(D) None of above

Article 3 of Constitution of India is not
related to which of the following ?

(A) Increase in area of a State

(B) Alter the boundaries of a State

(C) Alter the name of a State

(D) None of the above

Right to property was removed from
Part |l of the Constitution of India by
which of the following Amendment of

Constitution of India ?
(A) 42" Amendment
(B) 43@ Amendment

(C) 44" Amendment

(D) None of above

-17-

44,

43.

46.

8021/TF - BT/PP - M

3= A % R ) wEnfiE Yrd
¥ Gfagm % fore IT=o | WeHTHa © 7

(A) 124(2)
(B) 124(3)
(C) 124(4)
(D) 3U0 | IS Tl

E & Gieum & s - 3 fmfiiaa
4 @ fored waftra i ® 7

(A) Torelt Toy o1 &FAHS SGTAl

(B) foreh e <t dimnatt # aferdA

(C) Toreh Toa & T | g

(D) IR | HIg &I

TG o Gie™ 9ot 1l 8 S i STeeRR
frg gfaa™ genye g 82R T 7

(A) 42 9 GuTeE
(B) 43 @ @¥NEH
(C) 44 3 ganeH
(D) ST H ohis Tal

IF & e T
Space for Rough V' rk
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47. Arrange the ocean deposits starting 47. WEETTR &Y &t 1808 & YR WHR Y
from top to bottom. e & w0 ° aferm fifsd |
1. Blue mud 1. feft T
2. Red clay 2. T HfIeHhI
3. Caleareous materials 3. YA e
4. Siliceous materials 4. Taferem vum v
(A) 1,2,3,4 (B) 1,3,2,4 (A) 1,2,3,4 (B) 1,3,2,4
(C) 1,3,4,2 (D) 1,4,2,3 (C) 1,3,4,2 (D) 1,4,2,3
48. Which of the following is happiest 48. 2018 ¥ fova 1 Go8 @A A HAATR ?
country in 2018 ?
(A) Norway (A) i
(B) Denmark (B) ST
(C) Finland (C) fFetvs
(D) None of above (D) I9Terd | I A&l
49. Stalactite and Stalagmite are found in 49. Tygared IR Fvgar I S @
(A) Kutumsar Cave (A) HZHEL THI
(B) Bango Cave (B) =TT T
(C) Dandak Cave (C) <= TH
(D) Aranyak Cave (D) 3w TH1
50. The disease sickle cell anemia is 50. foeher &t Ut Forsh g BT @ 7
caused by
(A) Iron deficiency (A) I <hl
(B) Malarial Infection (B) Teifam &1 3haIM
(C) Poor hygiene (C) @9 9% 9%ig
(D) None of above (D) 3I9e A <hIS gl
W ®E o e v
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EDUCATIONAL INTEREST Rreror srfirsta

51. When a child takes moral decision on 51, el ohIS STeTeh YaIgHTd 48 Ul GUeahil o 3TTHR
the basis of anticipated punishment w e Fola sar e A1 98 q TR
and reward, he is passing through ®EATS |
(A) Conventional morality (A) qreFafeEs A
(B) Preconventional morality (B) qauTCiER Aicehdl
(C) Postconventional morality (C) ITUTufEh e
(D) Intentionality and restitution (D) ATy v JeA=IHA

52. In programmed leaming the learning 50. wrismtas erftrm | e gt i
materials are properly arranged by TR & geraftd o ST @ |

level.
(A) graduated difficulty level (A) iR STl T
(B) graduated discrimination level (B) hitreh fasied &
(C) graded duration level (C) itep 3@y i
(D) graded distraction level (D) shitreh fermmur &

53. The right sequence of vicarious 53. T At Uishar fereent 3uan sqaE
learning process which is used in greforr AvamEl o grar &, o1 @l HA
behaviour modelling process is 2 |
(A) motivation, motoric production, (A) FI, Wm; CHUIRC RIS

retention and attention |
(B) attention, motoric production, (B) o, Uufia Jeure, TR T AT
retention and motivation
(C) attention, retention, motoric (C) ©am, ewoT, Uil Seared Td HT
production and motivation
(D) retention, attention, motivation and (D) UM, ©IH, TSR Ta ueity Sedre
motoric production |
I HE o foTe T
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54. Education by the sports is

55.

o6.

(A) Psychological
(B) Non-Psychological
(C) Suppresses the creative tendency

(D) Suppresses the tendency of
grouping

Which factors are related to the
characteristics of good test in the

following ?

(A) Reliability
(B) Validity
(C) Objectivity

(D) All of above

When was ‘IGNOU’ established in

India ?

-20- A R AR 0O A

54. W o HIEAH | f3ra
(A) TR 2
(B) AT &
(C) =T Sgii i gaTdt &

(D) &¥g wgf <l gl @

55. Tafefaa @ @ 98 929 3= e &
fertwarett @ g 2 7

(A) Tergaatan
(B) dErdi

(C) a&gisadr
(D) 3Iuierd g+

56. \Rd H IGNOU’ ht €1a el gt 7

(A) 1982 (A) 1982
(B) 1983 (B) 1983
(C) 1985 (C) 1985
(D) 1987 (D) 1987
W &Y & feuweme
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57. Quantitative techniques measures

Db,

59.

80.

(A) Verbal measurement
(B) Non verbal measurement
(C) Oral and written techniques

(D) None of these

Which of the following purposes
demands Action Research 7

(A) Testing a theory

(B) Writing a thesis

(C) Developing a theory

(D) Solving a classroom problem

Which of the following is a nonformal
media of instruction ?

(A) Teleconferencing
(B) Radio

(C) ETV

(D) All of these

A subject which is taught by a teacher
must be according to the

(A) Mental level of students
(B) Knowledge of teacher
(C) Interest of the teachers

(D) None of these

-21-
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57. qfEToTerss Tfefea ATdH Sl
(A) ITfegeh HTYT i
(B) A3Tfeceh HIGH <
(C) Hifge wa fafaa ufafmi 1
(D) 3 | I3 Tl

58, Tfariiad i 4 foraeh ford fohamenes smgae™
I AETIFa B ® 7
(A) g ulieror 4
(B) Ny-Yer-g for@d |
(C) Torgr= faerfaa w #
(D) & hl THEA] T T FA |

59. FrRiiaa i & Fe SR 1 S

qyuag

(A) TR ET
(B) =T

(C) 3 eefifers
(D) Iulaa |+l

60. T3rere TRT e ST forva g e

(A) BT % TR TR & JTHR
(B) feteh & I & HIAX

(C) Torerer <l ¥ & HIEAR

(D) 38 & I3 &

T HE ok ToTg T
Space for Rough Work

Set-A

Scanned with CamScanner


https://v3.camscanner.com/user/download

8021/TF - BT/PP - M

P 0 000 A

61. Ineducational psychology fYren gifag= o 37 feRan
is studied. ST © |
(A) utility of education (A) Trem < Iwnfiar =
(B) processes of learmning and teaching (B) @+ aur f¥eror <t ufsham &1
(C) utility of principles of psychology (C) wfasm o F=mi &% 39
(D) ways of psychological solution to (D) a1t & HAESIS TUTEE &
problems adienl o
62. “The things which are complex and I oft <A sifes va wfea B 8, nfcass &
difficult, good for the mind”. This statement fusgn gt & | : 3 1 JoIe ey
is directly related to theory. * fgada e |
(A) formal discipline (A) =T ST
(B) identical element (B) ¥H&Y dcdl
(C) generalization (C) EmET=ientu
(D) transposition (D) TaTr=al
63. Formula of educational quotient is 63. ek wfedr 1 g T |
A
i L (A) 100
Chronological Age FHIAHH 1Y
i Q&
(B) Educational Age . (B) = il 100
Mental Age HTEh 3]
* feTen f
(©) rEducatfon.al Age . .05 (C) L. 160
Chronological Age hIcTshH 3HATY
A
(0 =i A 100 (D) 100
Education Age 3NfeTeh 3T
W & & e s
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64. Possibly suppression of impulses of 64. BEI & AT T §AF A ° gWaa:
students given rise to
(A) They follow the discipline (A) A IFIMEA THA T o
(B) Feeling of revolt can rise (B) 37 fargig syrar g9 &l @
(C) Their creative power is frustrated (C) Ieh! GrTeass Ifed SHidd Bl STl 8
(D) BothBand C (D) B 3 CgHI
65. Who among the following can be called 65. Tr=feiiaad & @ ford wse & Fmbar sva1 s
nation builders ? Rl g ¢
(A) Principal (A) = &I
(B) Headmaster (B) T i
(C) Teachers (C) fher=nt =1
(D) Political leaders (D) TS Jqgea waisti &l
66. During teaching, a teacher gives 66. T & A T et 39e 99 T,
example Fifeh
(A) To attract students attention (A) BT T &I FThYd T doh
(B) To make lesson interesting (B) 913 ! U= S &g
(C) To explain the lesson (C) T3 =l HHAM B
(D) To continue the lesson for long (D) 4T3 ! &isl THA T Y =
time
67. To prepare students as good citizens 67. BHEI & IuH AN 991 7Y e #
a teacher should arfed, T |
(A) Maintain strict discipline (A) FOR T §HC W
(B) Provide good leadership (B) 399 A YSH
(C) Be good actor (C) 3w fran &
(D) Have good general knowledge (D) 3T M §H &
I &d & oo wem
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68. Contribution of is appreéiabie 68. o FEaur e FeaH
in the field of developmental task. . T AR YN § |
(A) Skinner (A) &N
(B) Havighurst (B) Bfmeed
(C) Jones (C) <=
(D) Hurlock (D) &TH
69. According to Piaget children aging 12to 69. TUuTST % IER 12 & 16 ¥ ATY & FTeTh
16 Qeafs are at the stage of GHTCHS TahTE hi AT H
of cognitive development. | TS | .
(A) Formal operation . (A) =i Gisha
(B) Sensory-motor (B) wag-usfi
(C.f)' Concrete operation (C) 3 Hisha
(D) Preoperational (D) WTHHHATHS
70. Which is called Keller's plan ? 70. ook AT forl FET ST R 7
(A) Personalized system of instruction (A) Trew & Sufeas A
(B) Computer assisted instruction (B) Pl @Al WIed faew
(C) Linear programme (C) W Tu™
(D) Branching programme (D) Y&t U™
@ w1 & foTe T
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ik,

72.

73.

74.

Intelligence quotient can be the
example of

(A) Interval scale
(B) Nominal scale
(C) Ratio scale

(D) Ordinal scale

Mental health is

(A) Harmonious functioning of the total
personality

(B) Symptoms of maladjustment

(C) Terrible excitement

(D) Throwing up temper-tantrums

Which of the following strategies is most
suitable for introducing a lesson ?
(A) Lecture

(B) Demonstration
(C) Questioning
(D) Explanation

An effective teacher adopts the norms
of the

(A) Autocratic society
(B) Democratic society

-25-

I,

e

73.

8021/TF - BT/PP - M

CIEIED) =T IZTEXTT & ThelT © |

(A) =< HIYH
(B) TiHeh AT

(C) FrgaTa AT
(D) shitreh {1

e ey g
(A) |yl safaded 1 T HR HET

(B) STHTHSR o A&
(C) i 3ca18
(D) Y T TEIH

FrafeRga Hfeard @ s Fifa e s afea
& % o T 31ftres SugE & 7

¥ gEE A |

(B) STmarf=reh €4Sl

(C) Both A + B (C) Tt A+B
(D) None of the above (D) IWisd H & Hig &l
& & & oo T
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75. That effect which shows that a person’s 75. 98 sgagR S I8 feaarmar © T foreft seem
behaviour can change simply due T AT IS SFIST B4 A & sufe o1 sqaEr
to his being subject in any study, is yfafda g Tt &, @i gl
called ST # |
(A) Experimenter's effect (A) SRIFTRAl J9TE
(B) Self-fulfilling effect (B) HATCH-IRYIH Jahe
(C) Pygmellion effect (C) TordTerM g™
(D) Hawthorne effect (D) BIUH 949TE
76. Achild s able to recall name and face 76. U STcteh ol TRl o A Ud <80 & fowg
of a person quickly. Learning style of T Sog 81 A1 3T AT @ | 39 L8 i e
this type is called et =1 el STl @ |
(A) concrete style (A) 39 e
(B) field independent style (B) & Taa et
(C) field dependent style (C) &= ni¥a Jeft
(D) free style (D) ad A<
rr term is used by name 77. 9% 1 I9FNT TS HACIHRI
psychologists for the range of possible g fordt uftacd w fed m e
* % outcomes (phenotypes) for some IR F&T (AETE) T i
- 3udfed (TrersT) o Taw o ford fora stran
variable, given basis genetic pattern. 3
(A) "Reaction range (A) Sfafsham TER
(B) Threshold range (B) AT JEGR
(C) Reflex range (C) ufdad J&)
(D) Genetic range | (D) IHATRIF JER
@ &1d & oo em
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78. Psychologists who study teaching- 78. waawa® st oy gug & ster! &
learning processes of children of a Sreqor- 31Rrm wfsparetl &1 31eaaA, e
specific group in classroom, are called dea g, FEAEIE |
(A) educational psychologist (A) Tem BRI R ECY
(B) counsellor (B) qUESicHI
(C) psychotherapist (C) Taifaiehcaeh
(D) psychoanalyst (D) wiferveiveh
79. Spanish speaking person easily gets 79. TfIer w31 Al ¥ H9 9 H
skill in French language. This process SefoTaT ST FHeid © | $H JshH
is called as gl ST & |
(A) positive transfer (A) GFTeH® AT
(B) negative transfer (B) RUIeHR 3T
(C) zero transfer (C) I I
(D) lateral transfer (D) "I STaX
80. Ramesh is interested in knowing how 80. THY T A shl ST q arfirfy w@ar @
people behave on their task. If, he 36 o o9 = o forg 9 1 SHaRR &
wants to make this interest his career, 2 | SR T8 39 ARl i U “ﬁ‘_ﬂ i
then which field of the following will be (SR s =Tear ©, o fenfea 9 |
the most appropriate ? ST & G I9FF BT 7
(A) Industrial/organizational (A) e /deTede TSR
psychology
(B) Forensic psychology (B) =R TS
(C) Environmental psychology (C) vatatel Afam™
(D) Human factor psychology (D) AHEHRH HAIH
% & & e e
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PART - IV
GENERAL HINDI / am= §=<

81. TIH QYT 6 TV T 3HdF A8l g 7 86.  sgfm g W 2

(A) ST (A) i fem
(B) o3 (B) 37ey feam
(C) &= (C) o= furg
(D) = (D) foret forg
82. ‘BHR e H A¢E To¥ 7=l faendl ¥ 5§ 87. Tmafeiftga vree &1 y[¢ T wAaT € 7
R N GETeTeh TaRIN0T <t el STaeer g ¢ (A) wffee
(A) TEmEE (B) uftfeufa
(B) Sttieer (C) udifeufa
(C) SemraE (D) udifeerd
(D) 3Wds d € HI3 & -
88. ‘& & % Tl 4 o @A W oft = o A
83. T fravmRE S E 7 TN Bl ag HaEa e ?
(A) gt (A) FIF T
(B) Tasi e (B) frr amry
(C) wifyeh (C) =&t are
(D) 3fcdra (D) Ta=ior 39aTey
84. G HRR AT & Il & ¥1a B | 89, ‘WIEHUSAT HETeR I AY §
(A) va == (A) Wied aism
(B) Fftrsex (B) wifdagi g
(C) e (C) T ST
(D) g€ 79 (D) F=e 4 98
85. ‘OeF fFayFRF g 2 7 90. IRV % YHW dcd feha & 7
(A) <ur (A) T
(B) e (B) &
(C) ®rH] (C)
(D) deaH (D) 9K
@ & & (10 U=
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PART -V
GENERAL ENGLISH/ Tum=1 31sit

Most people lead the lives that circumstances
have thrust upon them. But Wilson had boldly
taken the course of his life into his own hands. At
35, he had quit his job to lead a pleasant life on
an exotic island with just enough money to last
for twenty five years. Once, fifteen years after
- he had been onisland, | happened to meet him
and engquired about his financial situation. He
said, “It will carry me on till | am sixty”. “But one
cannot be sure of dying at sixty”, | said. “Well ...”
he replied, “it depends on oneself, doesn't it” ?

Direction : Read the above passage carefully
and answer the questions from 91 to 93.

91. According to the author, most people

(A) Do not allow circumstances to
affect their lives

(B) Have fatalistic attitude towards life
(C) Do not know how to cope with their

93.

4.

95.

8021/TF - BT/PP - M

“ ... depends on oneself ” suggests that
Wilson at 60, would

(A) Depend on his own resources
(B) Surrender him to destiny

(C) Take away his own life

(D) Carry on living in the same way

Out of the alternatives given, choose
the one that can be substituted for

‘an official statement that allows people
who have been put in prison for crimes
against the state to go free.

(B) amnesty

(D) alimony

(A) atavism
(C) anomaly

Find out the correctly spelt word from
the following :

(A) neccessary (B) necesary

situation
(D) Do nothing to change the condition (C) neccasery (D) necessary

they live in _

96. ‘He is employed the
92. Wilson’s boldest decision was that he Manuscripts Department

(A) Quit his job the British Museum’.
(B) Saved a Iot of money to lead a Choose the prepositions in correct

pleasant life order to fill in the blanks in the above
(C) Preferred to live in isolation sentence.
(D) Wanted to live without depending (A) in, at (B) at, in

on others (C) in, In (D) on, at

T & o U T
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97. Choose the correct sentence 99. S1:
(A) If | have time, | should visit the S6
exhibition.
(B) If | have time, | would visit the
exhibition. P -
(C) If | have time, | shall visit the
exhibition. Q:

(D) If I have time, | shall have visited
the exhibition.

Direction for questions 98 — 100 : In R:
each question there is a passage of six
sentences. The first and the sixth are given
in the beginning. The middle four sentences D
in each have been jumbled up and labelled

A0 O 00 RN

The heart is the pump of life

All this was made possible by
the invention of the heart-lung
machine.

They have succeeded in heart
transplants.

Now a days surgeons are able to
stop a patient’s heart and carry
out complicated operations.

A few years ago it was impossible
to operate on a patient whose
heart was not working properly.

If the heart stops, we die in
about five minutes.

PQRS. Find out the proper order for the four (A) SQPR (B) SRQP
TP (C) SPRQ (D) SRPQ

98. S1: Satyajit Ray made several films 100. S1
for children.

S6 : But today few think of Ray as a
maker of children’s films.

P: latter film-makers have followed S6

: Janaki said on the phone that

she would report for duty the next
day.

Eventually we reported to the
police.

nis lead.

Q: Today other nations are making P : We waited forafew days and then
children’s films in a big way. decided to go to her place.

R: This was at a time when no Q: But she did not.
director considered children as
potential audience. R: We found it locked.

S: Ray was, thus, a pioneer in the S: Even after that we waited for her
field. for quite a few days.

(A) PSRQ (B) RSPQ (A) PRSQ (B) QPSR

(C) RSQP (D) SQRP (C) QPRS (D) SQPR

T &Y oh (oT0 T
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SET- A
I 3iTehd A hT A0 : 2%e 3rferera™ 3tk : 100
Time for marking answers : 2 Hours Maximum Marks : 100
qre

1. 39 99 IfEaert o 100 T4 & | Icde T9H 1 37 1 & | 9t 939 o a2
2. THI % I 21 s OMR 3It-¥1¢ (Answer-Sheet) R 3ferg Hifsw |

3. U YodTeh Tal [T SITaT |

4. foret oft T8 % hetgpeled A1 T 2oel Ud HISTSe BiF o1 YART afvid & |

5. OMR 332 (Answer-Sheet) T T4 Fd GHT THT 13 FTEYT 7 9d FHY I8 B 9= &1
3% Are 91 farae 3nfe 9e 9™ a1 98 wue g 9™ |

te:

This question Booklet contains 100 questions. Each question carries 1 mark. All questions
are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.
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